FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
SONOMA FINIAL PLANTERS

u"

A
‘

*Péi“‘




“uas skred 8y} UO payJew sJaquinu ay) 01 Ydrew 1ou op asay ] “AJuo 90uaJajal 1o} ae J[qe sexod JO JUaIU0D) 8yl Ul Ssiaquinu 1ed 810N

Aren
E—— syoddn
v ! S 1M
| - o |
| . o |
H I - H
"'ON Buimeaq uondiiosag yile)

S3X04d 40 INJLNOD

PI1

SONOMA FINIAL PLANTERS
www.ForeverRedwood.com



'9z1S uo Bulpuadap Area [|1m asempiey JnoA Jo suolsuswiq 810N

SINN ,.9T/S

SIB3yseM | 8/L X ..8/E

_—

*(saousy Buo| ayy 01 suoddns ayy yoene o)
siog ,.% € X .. 9T/

"(sa0usy
Buo| ay1 01 S30UBJ 1I0YS 3yl ydene 01)
SMaI3S %28 ,.€ X ..8

"(sa0udy
Buoj ayy 01 S39USJ 1IOYS Y1 ydene 0])
siog ..€ X .,.9T/S

*(100]J BY) 01 S32UBY BY) Yoene 0])
slog ,.v X ..9T/S

‘ON

Buimeaq

uondiiosag

1S1TT13dVMNMAYVH

P| 2

SONOMA FINIAL PLANTERS
www.ForeverRedwood.com



"Juas sired ay) UO paxJewW SJaquinu ayl 01 Yorew 1ou op asay] "AJuo aouaiajad 1o} ade BUTMEIQ 8yl Ul S1aquinu 1ied :81oN

suoddng

S30U34 1oys

S99uUa4 Buo

100|4

ON

NOILdI40S3d

P|3

SONOMA FINIAL PLANTERS
www.ForeverRedwood.com



Step 1: Use 5/16"" x 4" bolts (A) with washers and nuts to attach the long fences (2) to the floor (1). Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

5/16”" X 4" Bolts

Step 2: Use 5/16"" x 4”” bolts (A) with washers and nuts to attach the short fences (3) to the floor. Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

5/16"" X 4”" Bolts

___________

Pl 4
SONOMA FINIAL PLANTERS
www.ForeverRedwood.com




Step 3: Attach the short fences (3) to the long fences with 5/16™" x 3" bolts (B) with washers and nuts. After that, use 3" deck
screws (C).

3" Deck Screw

5/16” X 3" Bolts

If your Planter includes supports, then follow this instruction.

Step 4: Finally, use 5/16” X 3 %" bolts (D) with washers and nuts to attach the support(s) (4) to the long fences. Each part has
a series of numbers that indicate where to attach the part with the corresponding number.

5/16"" X 3% Bolts

P|5
SONOMA FINIAL PLANTERS
www.ForeverRedwood.com



This completes the Planter assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 6
SONOMA FINIAL PLANTERS
www.ForeverRedwood.com



